SV12Vv




Hi KOKI]
ORBITAL SANDER SV12V

17/

Item No.|Code No. Description No. Used Remarks
1/6001DD  [BALL BEARING 6001DDCMPS2L 1
21300158 |SLEEVE 1
31992013 |SEAL LOCK FLAT HD. SCREW M5X14 4
41300172 |FRAME 1
5/300317 |RUBBER LEG 4
61300161 |LEVER 2
71953066  |DISTANCE PIECE 2
81993539 |MACHINE SCREW (W/WASHERS) M4X16 2
9300159 |FAN 1
10{300160 [DUST FAN GUIDE 1
11/949216  [MACHINE SCREW M4X10 (10 PCS.) 5
12[300165 [FELT (A) 1
13/300164 [DUST GUIDE 1
14/300162 [PAPER HOLDER 2
15[/953320  [SPRING 2
16[872971 [RETAINING RING (E-TYPE) FOR D3 SHAFT 2|TILL 6.1998
17A[316549 |HOLDER BAR 2
18/300173 [BOTTOM PLATE 1
19/300166  [FELT 1
20{6203DD  |BALL BEARING 6203DDCMPS2L 1
21300167 |BALANCE WEIGHT 1
22A|300318 |COVER 1
241300090 |SANDING PAD (PERFORATED) 1
251949454 |SPRING WASHER M5 (10 PCS.) 6
26|949238 |MACHINE SCREW M5X14 (10 PCS.) 6
27982095 |TAPPING SCREW (W/WASHER) D4X20 4
28300157 |HANDLE COVER 1
29940811 |PUSHING HOLDER 1
*30| 957747 |SWITCH (A) (1P SCREW TYPE) W/LOCK 1
*30]|971667Z |SWITCH (2P PILLAR TYPE) W/LOCK 1
*31|981373 |TUBE (D) 2|FOR NOISE SUPPRESSOR
*34]959140 |CONNECTOR 50091 (10 PCS.) 1|FOR USA
*35A| 375596  |NOISE SUPPRESSOR (A) 1|EXCEPT FOR USA
*37A| 300185 |INTERNAL WIRE 1|FOR EUROPE
38300183 |TOP COVER 1
39A| 375370  |MACHINE SCREW (+-HD.) M5X60 4
401999041 |CARBON BRUSH (1 PAIR) 2
411930483 |BRUSH HOLDER 2
421300154 |HOUSING 1
43A| 300184 |BRAND LABEL 1
*44]1300180 |INTERNAL WIRE 1|FOR USA
*45|301843 |INTERNAL WIRE 2|FOR _USA
*46A]| 340719V _|STATOR 110V 1|FOR GBR
*46A]|340719K |STATOR 110V-115V 1
*46A|340719T |STATOR 230V-240V 1|FOR SUl
*46A]|340719U |STATOR 230V-240V 1|FOR GBR, ITA,FRA,HOL,FIN,NOR
47|608VVM  |BALL BEARING 608VVC2PS2L 1
481953174 |HEX. HD. TAPPING SCREW D5X55 2
491300155 |FAN GUIDE 1
*50]|360124E |ARMATURE 220V-230V 1
*50]|360124U |ARMATURE ASS"Y 110V-115V 1|INCLUD.1,47
51|946362 |BEARING LOCK 2
*521300189 |CONTROLLER CIRCUIT 110V-127V 1{FOR GBR

* ALTERNATIVE PARTS




Hi KOKI]
ORBITAL SANDER SV12V

2/

Item No.|Code No. Description No. Used Remarks
*52|300365 |CONTROLLER CIRCUIT 100V-127V 1|FOR USA
52A| 300187 |CONTROLLER CIRCUIT 220V-240V 1
*53]959141 |CONNECTOR 50092 (10 PCS.) 2|FOR_EUROPE,NZL
54 NAME PLATE 1
*55|500234Z |CORD 1{(CORD ARMOR D8.8) FOR ITA,FRG,FRA,HOL,DE
*55|500248Z |CORD 1{(CORD ARMOR D10.1) FOR SUI
*55|500240Z |CORD 1{(CORD ARMOR D8.8) FOR USA
*55A|500435Z |CORD 1{(CORD ARMOR D8.8) FOR GBR (240V)
*55B]|500461Z |CORD 1{(CORD ARMOR D8.8) FOR GBR (110V)
*56|981373 |TUBE (D) 2|FOR CORD
*57]980063 | TERMINAL 1{FOR CORD
581984750 |TAPPING SCREW (W/FLANGE) D4X16 2
59|937631 |CORD CLIP 1
*60]| 953327 |CORD ARMOR D8.8 1
*60]938051 |CORD ARMOR D10.1 1
*61|331949 |CR 1|FOR EUROPE
*62]|331950 |INTERNAL WIRE 1|FOR EUROPE
STANDARD ACCESSORIES
501300177 |DUST BAG (DEEP BLUE)
502|300047 |SANDING PAPERS 114X280 AA80 (10 PCS.) 1| (PERFORATED)
OPTIONAL ACCESSORIES
601300045 |SANDING PAPERS 114X280 AA40 (10 PCS.) 1| (PERFORATED)
602|300046 |SANDING PAPERS 114X280 AA60 (10 PCS.) 1| (PERFORATED)
603300048 |[SANDING PAPERS 114X280 AA100 (10 PCS.) 1| (PERFORATED)
604300049 [SANDING PAPERS 114X280 AA120 (10 PCS.) 1| (PERFORATED)
605|300050 [SANDING PAPERS 114X280 AA150 (10 PCS.) 1| (PERFORATED)
606|300051 |[SANDING PAPERS 114X280 AA180 (10 PCS.) 1| (PERFORATED)
607|300052 |[SANDING PAPERS 114X280 AA220 (10 PCS.) 1| (PERFORATED)
608|300053 [SANDING PAPERS 114X280 AA240 (10 PCS.) 1| (PERFORATED)
617300062 |[SANDING PAPERS 114X280 AA240 (10 PCS.) 1| (NON-PERFORATED)
618300063 |SANDING PAPERS 114x228 AA40 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
619|300064 |SANDING PAPERS 114x228 AA60 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
620| 300065 |SANDING PAPERS 114x228 AA80 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
621300066 |[SANDING PAPERS 114x228 AA100 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
622300067 [SANDING PAPERS 114x228 AA120 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
623300068 |[SANDING PAPERS 114x228 AA150 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
624300069 [SANDING PAPERS 114x228 AA180 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
625300070 [SANDING PAPERS 114x228 AA220 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
626300071 [SANDING PAPERS 114x228 AA240 (10 PCS.) 1|PRESSURE SENSITIVE TYPE,PERFORATED
636300081 |PAD (PRESSURE SENSITIVE TYPE,PERFORATED) 1
637]301953 |PUNCH PLATE 1
638]302313 |PAD (QUICK STICK TYPE,PERFORATED) 1
639|339382 |CLEANER ADAPTER 1

* ALTERNATIVE PARTS




